Find the area of the regions enclosed by the lines and curves
24. x-y*=0 andx+2y*=3
R'Ls\\*-l_e-(-"\' XT-}_I;L \(13_4257- 31: 3_2_3?.
l Pt 415?—
(]
A:S E=yD -9 34 3?’
E BN
- ¥ & i .
A= 3.3 = Iy yd, ot
-
(5-1)- (~3 £1)
F=(=205"
26. 4x*+y=4 and x*-y=1
TDP—%a-H-um 5___L|,_lez_ "'j ""‘\"'XLI
15':.-—l +Xq
A l > Y-Yy* =1+ X
T R Y 3 -
S(H#Hf‘ (HX i T e b St B
b
: O = ¥ +#ix -5
e
= ‘O: (‘( 15 )(x -
] 2 S q 3
= Bt R |-
A fl-xfax® S =530 x51=0
h =t
(L -445)- (+4-5)
R
T|Page ) Q
= -8 410
5 3"



Riygh+ - Let+
Sol-.rc 'C‘Ir %

NG LLy- () (-‘ )

Find the area of the regions enclosed by the lines and curves
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CALCULUS: 6raphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy

Chapter 7:

Application of Definite Integrals
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7.4: Arc Length \8

2. Use your calculator to find the length of the curve

-
y=tanx —<x<0
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4. Use your calculator to find the length of the curvg
-1

¢
What you'll Learn About
¢ Finding lengths ofcurves
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8. Use your calculator to find the length of the curve

i m
x=~[“) Jsecrt-1 Z<y<Z I

3

.d; = \lSCC:(l\.)z)"l ey

Ty

J

1
3

3 4 L;j l -'|'< )
dx =il

; l F 2
=leyt T2y o .
x=l-y Lsysl L*f{“{ﬂ
. 3
o

—_—

18| Page



Direction
= A particle is stopped when the velocity =0
* A particle moves left when the velocity is negative

* A particle moves right when the velocity is positive

Displacement/Total Distance
* Displacement is the integral of the velocity

» Total Distance is the integral of the absolute value of the velocity
* Remember when doing total distance by hand you must find when the
particle is moving lefi and right and split up your integral doing the
absolute value of the part that is moving left

Area
* Top- Bollton'!: Everything in the integral is in terms of x
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dsin=r

Arc Length

L=J‘ H({%] dx if original equation is solved for y
dx

3 2
L =j. 1+ {d—r] dy il original equation is solved for x
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